ERGOTIG

24 Sintig / 24 Flex

ERGOTIG
24 W Sintig

FLEX

SP1401-00 4m M12x1 SY1401-00 4m M12x1
SP1801-00 8m M12x1 1 SZ1401-00 4m - Flex M12x1 1
SQ1401-00 4m - Flex M12x1 1
BWO0303 reduction TD0005-24 @ 2.4 collet - gaslens 3
BWO0305 trigger 5 TE0004-10 @ 1.0 collet body 3
BWO0310 cable support 1 TE0004-16 @ 1.6 collet body 3
BWO0311 cable support 1 TE0004-24 @ 2.4 collet body 3
BXo0625 board 1 TE0005-05 @ 0.5 collet body gaslens 3
EA0329 screw @3x10 50 TE0005-10 @ 1.0 collet body gaslens 3
FA5130 female red. 3/8G 24UNF - 3/8G 24UNF 5 TE0005-16 @ 1.6 collet body gaslens 3
TCo021 @ 4.0 ceram. Gr 0.165 10 TE0005-24 @ 2.4 collet body gaslens 3
TCo022 @ 6.4 ceram. Gr 4 10 TF0024 torch head 1
TCo0023 @ 8.0 ceram. Gr5 10 TF0224 torch head 1
TCo024 @ 9.8 ceram. Gr 6 10 TG0024 torch head 1
TCo0027 @ 6.4 long ceram. Gr 4 10 THO005 power cable 4 m 1
TCo028 @ 9.8 long ceram. Gr 6 10 THO006 power cable 8 m 1
TCo041 @ 6.4 ceram. Gr 4 - gaslens 10 THOO046 4m - M12x1 1
TCo042 @ 8.0 ceram. Gr 5 - gaslens 10 THO047 8m - M12x1 1
TC0043 9.8 ceram. Gr 6 - gaslens 10 THOO64 4m - M12x1 1
TCo0044 @ 11.2 ceram. Gr 7 - gaslens 10 THOO065 8m - M12x1 1
TCo045 @ 12.7 ceram. Gr 8 - gaslens 10 THoO086 power cable 4m - M12x1 1
TD0004-05 @ 0.5 collet 3 THo087 power cable 8m - M12x1 1
TD0004-10 @ 1.0 collet 3 TP0O090 green handle 1
TD0004-16 @ 1.6 collet 3 TQO0004 insulator 10
TD0004-24 @ 2.4 collet 3 TQo014 insulator 10
TD0005-10 @ 1.0 collet - gaslens 3 TQo024 gaslens insulator 10
TD0005-16 @ 1.6 collet - gaslens 3

[ ] COMPLETE TORCHES [ ] CONSUMABLES

CONNECTORS

SPARE PARTS

3 TIG
WELDING

ﬁ;//oﬁmc]‘

your welding partner



Pg
128

CONSUMABLES

CONSUMABLES KIT
NOT INCLUDED

BWoai1
|

R

ERGOTIG

24 Sintig / 24 Flex

) ”a“

FLEX

IEC 60974-7 O
& o (€

éﬁm:aa%

FA5130

&Fﬂﬂ:ﬁ%

P ‘ 0.45 Kg
I m— .
iy 4-8m |
wo [ rer S ose
peak e
)@l 110A DC
LT 95A AC

Pg
128

CONSUMABLES

CONSUMABLES KIT
NOT INCLUDED

BWoa03

1/4” 28 UNF

BWo310
|

L=

T

THooB4
THooss  THOOE5
THoo87

ERGOTIG

24 W Sintig

FLEX

ﬁg//oﬁ)??@f

your welding partner

WELDING

TIG
WELDING

=
-




TIG WELDING TIG WELDING

Ergotig 17/ 18/ 26 Ergotig 24 /| 24W

BWO0056 ? BWO0067 GAS LENS

]
EA0130 BW0066 GAS LENS i !
1

o TQO004 E Taoo4
! 1
i |

Toooot... || 8 & Tooozz... TE0004... ! TE000S, a
! 1

]
I I | L—-m— A i G
] ]

TQo002 (-~ *---~q-~~~ oo . : : : =
| . [a]
| TQ0003 = @ TCo021 TC0041 |

Ow
o TC0027 ++ =
TE0001... TEO0006... = 064
g64
: | @ TCo042
] O
1
[ 1 [ ! 1 I 264 TCo028 a8
TC0002 TCO0006 TC0091 | [TCO031  TC0034  TCO086
-
7 -+ n TC0043
|E| 9.8 ——
o TC0023 —
—+ !
064 o112 5T 98
T — TC0032  TC0035 ++
o €003 5 @ TC0044
TC0092 TCO087 TC0024 +—+
a11.2

-§‘
(=]
1Y
-l
[1]
<
<
<
(-]

)
St
SU(E
] =]

9
0]
g

TCO033  TC0036 I

—+
6 12
E j n 11 = @127
S | @95
+—+  Toooss
dds 9719 @98 @19
Ecouns TC0037
E
SHORT I
-
= = 4 | srtussy Sy
@ 11.2 a17.2 a it
Torch head
TIG 17/18/26
Collet Stubby
TDOOO1... || g TD0002
| Collet Body Stubby
: TIG 9/20 TE0002
TQo027 =
|
|
TE000... Q The Stubby Collet allow the use of the
. Nozzle - taking up little room - of the 9/20
_______ J series on the 17/18/26 torch bodies.
| 1 |
TC0118 TCO0119 TC0120
(o] [w] [ g
} } } } } } TDO0002-10 @ 1.0 collet stubby 3
@12.7 @157 @19.5 TD0002-16 & 1.6 collet stubby 3
TDO0002-24 @ 2.4 collet stubby 3
TDO0002-32 @ 3.2 collet stubby 3
JUMBO TE0002-00 stubby collet body 3

WELDING

-
N
-.q

your welding partner

587‘/07?}77@]‘




	ERGOTIG 24 G S_F
	17_18_26

